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ECE-320, Quiz #0

Problems 1-3 assume we have a system modeled with the transfer function 
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1)  This system model has how many zeros?
a)  0   b) 1   c) 2   d) 3

2) This system model has how many poles?
a)  0   b) 1   c) 2   d) 3

3) How many terms will there be in the partial fraction expansion?

a)  0   b) 1   c) 2   d) 3

4) How many terms will there be in the partial fraction expansion of 
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a)  0   b) 1   c) 2   d) 3

5) The bandwidth  ( 3 dB point) of the system with transfer function 
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a) 10 Hz    b) 1 Hz    c) 10 radians/sec   d) 1 radians/sec

6) The bandwidth ( smallest 3 dB point) of the system with transfer function  
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a) 2 Hz     b) 20 Hz    c) 2 radians/sec    d) 20 radians/sec

For problems 7-9 assume we have a system modeled by the transfer function 
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7) To determine the impulse response we should compute the inverse Laplace transform of

a)  
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8) To determine the (unit) step response we should compute the inverse Laplace transform of

a)  
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9) To determine the (unit) ramp response we should compute the inverse Laplace transform of

a)  
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